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1. The ratio of boys and girls in a club is 3:2. Which of the following could be the actual
number of members?
A 16 B. 18 C.25 D. 24

2. 30% apples out of 450 are rotten. How many apples are in good condition?
A 125 B. 315 C. 240 D. 180

3. The present age of son is half of the present age of his mother. Ten years ago, his
mother’s age was thrice the age of her son. What is the present age of the son?
A. 25 years B. 20 years C. 30 years D. 40 years

4. The average of two numbers is 6.5 and square root of their product is 6. What are the
numbers?
A. 11 and 2 B.8and 5 C. 10 and 3 D.9and 4

5. ais greater than b by 2 and b is greater than ¢ by 10. [fa+ b+ ¢ =130, then(b+c¢c)-a
=9
A 42 B. 38 C.34 D. 44

6. The least number which should be added to 2497 so that the sum is exactly divisible by

A

1.

5,6.4and 3 is
A. 23 B. 13 C.3 D.33

7 Wi, boys : girls=3:2
boys 3 3x5 15
girls 2 2x5 10
<R, boys 15 & = girls 10 &
o4 total Mo 71T (15 + 10) =25 T 20 #ied | .. Answer is (C)
I, AT @ = (3 + 2) = 5
g Answer option (C)-a% 25 (& 5 == S 341 T | O total (THIF 25 & Z0© A |
Rotten apple-a3 71251 = 450 x 30% = 135%
. O apple-a3 74T (450 — 135) = 31515 .. Answer is (B)
«fa, mother-4 TSI 7 x T=F

X
.. SON-¢d L, —d=F
2
b x-20
epares, (x—10)=3 5—10 =>x-10=3 = 3x-60=2x-20=>x=40
, x 40 _
TOAR son-G IO W:E: 7: 20 7=g1 .. Answer is (B)

A-1
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4fq, b MR TAGE x QR

+
ww,z’%mwwx—zy=6.s:>x+y=13 ........ Q)

O, \JXXY=6= (\/5)2= (6)2 = xy=136 :>x=ﬁ

y
X-€F T (1) 7 TR AT ATZ,
2
§+y= 13> 30+y =13
Y Yy

=36+)y"=13y =" - 13y+36=0
=1 -9y —4y+36=0=p(ry-9) -4 (y-9)=0=>(-9)(y—4)=0
Sy-9=0Dy=9=@y-4=0=>y=4
TRy =97 x=13-9=4; w7, 9=4T@x=13-4=9;.. Answer is (D)
ma =R, a=b+2;, b=c+10; ¢=b-10;
a+tb+c=130
=>b+2+¢c+10+b-10=130=>b+2+b-10+10+b-10=130
=3b-8=130=>3b=130+8 = 3b=138
:>b=%=46 Sa=46+2=48; . ¢c=46-10=136;
S (btc)—a
= (46 +36)—48 =34; .. Answer is (C)
5,6,4 @R 3-ag sALe = 60
60) 2497 (41
240
97
60
37
. ety e 4t (60 — 37) = 23; .. Answer is (A)

The face value of 8 in the number 458926 is

A. 8000 B. 1000 C.8 D. 8926

The total cost of flooring a room at Tk. 8.50 per square metre is Tk 510. If the length of
the room is 8 m, its breadth is

A . 85m B.75m C.105m D.125m

A can do a piece of work in 4 hours, B and C together in 3 hours, and A and C together
in 2 hours. How long will B alone take to do it?

A. 8 hours B. 12 hours C. 10 hours D. 24 hours
A speed of 14 metres per second is the same as
A. 50 km/hr B. 46.6 km/hr C. 28 km/hr D. 70 km/hr
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7. We know, the place value of a digit in a number is the value it holds to be at the place in
the number and face value is the actual value of the digit.
458926 e4rifore 8 @ face value =@ 8; .. Answer is (C)

8.  8.50 5= <wm =@ | =ffWoia

So510 L, ., L, ﬂ=60?9ﬁ13‘1?
8.50
qf7, T 4% x o

axEes, 8x =60 => x = %: 7.5
TR &% 7.5 W6R; . Answer is (B)

9. A,(B+C)az&(A+C)aalﬂ=ﬁTWWi,%az&%
“(A+B+Cparlwomeme 4y Lo 3T T
4 3 12 12
. B-a71 | w817 3w J_ L) 7=6_1
12 2 12 12
B @& 1wa*rmm1m‘s‘m

12
, L3t 12 9% . Answer is (B)

10. 14 m/s=14 x %: 50.4 km/hr

eI,
1 e 7w 14 foE

3600 ,, ,, 14 x 3600 = 50400 f6r= = %: 50.4 f&.f. .. ew s Sex 712 |

11. Oranges are bought at 5 for Tk. 10 and sold at 6 for Tk. 15. The gain percent is
A. 50% B. 40% C.25% D. 35%
12. By selling an article for Tk. 100, a man gains Tk. 15. Then, his gain % is

A 15% B. 12%% C. 171% D. 172%
3 4 17

13. (0.04)> = (0.008) x (0.2)°=(0.2)’

A5 B.6 C.8 D. None of these
14. Two numbers differ by 5. If their product is 336, then the sum of the two numbers is

A 21 B.37 C.28 D. 51
15. Evaluate \/248 +4/52 +4/144

A. 20 B. 16 C.24 D. 30
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11.

12.

13.

14.

15.

16.
17.

18.
19.

20.

Cost price &fefs %: 2 it

15
Selling price ., Z: 2.5 51t

25-2 o _ 0,250

.. Gain percent = x 100 = 25%; .. Answer is (C)

Cost price = Selling price — Profit
=100-15=Tk. 85
.15 11 .
. % of profit = g x 100=17 ﬁ %; .. Answer is (D)

(0.04)* + (0.008) x (0.2)° = (0.2)’

¥t 7=x
0.0016 02 Y x

= (0.2)' =(0.2) = x =7, .. Answer is (D)
43, 97T US> TN a @R b
ST SIS a— b =5, 27 *$Trs ab = 336
ST @I, (a + b)? = (a— b)* + 4ab
=5"+4x336=25+ 1344
s (a+b)y=1369

= \J(a+b) = 1362 =a+b=36.905~37; .. Answer is (B)
24841524144 = 24845212 = 248+ o6k

= \/248+8 = /256 =16 : .. Answer is (B)

(0.75x44x24)+06="

A 4752 B. 12 C.15.84 D. 132
48.95-32.006 =7
A.16.089 B. 16.35 C. 16.944 D. 16.89

P and Q started a business in the ratio of 2:3. After 1 years P left the business but Q
continues. After 2 years he had the profit of Tk. 26000. What is the profit of Q?

A. Tk. 10400 B. Tk. 13000 C. Tk. 15600 D. None of these
How much time will it take for an amount of Tk. 450 to yield Tk. 81 as interest at 4.5%
per annum of simple interest?

A. 3.5 years B. 4.5 years C. 4 years D. 5 years
A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour?
A 72 B.36 C.84 D. 10
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16. (0.75x44x24)+06=792+06=132,.. Answer is (D)
17. 48.95-32.006=16.944; ... Answer is (C)
18. =g, P:Q=2:3

23eg A profitratio=2x1:3x2=2:6=1:3

3 .
Share of Q = 23 x 26000 = 19500; .. Answer is (D)
+

100xS.I _ 100x81 _

PxR  45x45
20. 5 i wfewT 3 600 fow

19. Time = 4 <=, . Answer is (C) | Here,
Simple Interest = §1

Principal =450

N S 600 . rate of interest = 4.5%
5 Number of years = ?
600x60 :
60 ,, ., ,,T = 7200 fB= = 7200 + 1000 =7.2 km/hr; .. Answer is (A)
21. If 8 men can reap 80 hectares in 24 days, then how many hectares can 36 men reap in 30
days?
A. 350 B. 400 C. 450 D. 425
22. The ratio 5:4 expressed as a percent equals
A 125% B. 40% C. 80% D. 12.5%

23. The average of 6 numbers is 7. The average of three numbers of them is 5. What will be
the average of remaining numbers?
A 15 B. 30 C. 42 D.9

24, 1In a group of 52 persons, 16 drink tea but not coffee and 33 drink tea. How many drink
coffee but not tea?

A3 B.7 C. 19 D. 17
25. The least prime number is
A0 B. 1 C.3 D.2

AT

21. 8 & @< 24 e Tt i 80 (239
80

8x24 "

36, , 30 ., ., M=450 &@%9 1 .. Answer is (C)
8x24

1 2 ER] 1 ER] ER 2

22. 5:4= §= 1.25;
4

.. Required percentage = 1.25 x 100 = 125%; .. Answer is (A)
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23.

24,

25.

26.

27.

28.

29.

30.

31

32.

33.

34.

35.

36.

37.

38.

66 M B =6 x 7=42; 3T mammomE=3x5=15
. qife 3% steay owif® = (42 — 15) =27

o3 R TG = %= 9; .. Answer is (D)

vy tea AN @ 16 &; coffee AN 3 33 &

-, T oA w0 (33 — 16) = 17 &

- 8y coffee AT =(52 - 16— 17)=19 %= | .. Answer is (C)
eI, 4, @Y coffee M I x &F; .. T A 37 (33 — 16) = 17 &

eEEee, x + 16+ 17=52 =>x=52-33=19%"
Answer option-« & prime number 2T 2; .. Answer is (D)

RLG
‘o’ *(THR AL ¥ 7 (P62
A. 7 B. e C. &%
e @i ey Fws ==
A. i@ B. Tt C. TS
051 @ AT wEe
A, SPrRAT B. 3few C. 3%y

O3 ST FHAIT Y 8 BfeTe SrRuAIfed it Jr qCeT?

A. STHE AR B. I C. fegafTs go
‘TS 9T~ @ TR B2

A, =erZEr B. sifqsery <oar C. 138
“3forrT e wfvw Rf- a3 w2 I =@

A. afsgiv B. gfezifr C. gfozmfm
ST 0T AT > (@ T SRR FE?

A. 7R B. e C. e
BT 7RE TF- QU B (I IR (@ [qefEe

A. 30t faSmr B. oA ST C. SAMICT A&
‘TR foreT avers - @F FAF A2

A. ™ B. femtt C. teferge
“eigra TR TS 11 (e

A. SR@ B. &1 C. Afere

RN *t ferke 1w (@t

A =% B. “=tenes C. viwd
R *=foR fAerire 1w (@ED?

A. IR B. a7 C. 9w

FE FLRAFHCER S T 272

A. VRN b@St B. 33w o1a C. *e (@15

D. Seofer

D.

D. w=&[

D. IzTsve @R
D. e

D. gfezrias
D. 397

D. w3t fasra
D. 137

D. s

D. P

D. &%

D. %avy @g
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39, ooy *wioq W@ SHR (FI?

A. TTeTS B. *rey C. wirstst D. tiirerst
40. 957 IF A0 wm?
A. wes B. SE5Ry C. &rer D. 5=
41. ‘M2 SR A (AT A (72 - G T2 #1015 (@ e ATt ST 202
A o B. & C. R D. s
42, ‘o PN TR A amita @ Fre
A oIt ifoex weT B. =g C. Srgem1 3w 4 D. Sex fes faosm
43, ‘TT FSS - O IRT [
A. 3 Arew B. ToerT C. w53 D. fet= =4t
44, ‘BT @, FUE (2, YR IC T |- G BT *fo (i =g At 20
A. % B. St C. 3= D. @
45. et fefar e« 9 e 9w |
A. fFrergs were B. e wore C. et T8 D. e efarare
46. STV BT A0S BRI (N2
A. T B. g &g C. em@ D. <& TR
47. W W TS TgT 54 SRER Fae?
A. T (TR *tem B 2@erT *Er C. sifaepesrse D. T3 Y25 *RI9ER
48. T3 @I I ETeTiEes e e
A. IS ToPET B B W @ C. SIE @™ D. ST B9
49. ‘e T =HOF IR P2
A. Traifes B. =fyf C. Sret fasm D. sttet
50. e qefEry MaR <« S
A. 03f5 B. v C. s0f6 D. »f
26A 27.C 28.B 29.A 30.C 31.D 32.A 33 34.C 35.B

36.D 37.C 38D 39.D 40.C 41.C 42.D 43.B 44 B 45.C
46.C 47.A 48D 49.C 50.C
33. 3o Tea: Facs A

English

Choose the word opposite in meaning to the given word (51-55):
51. Virtue

A. Untrue B. Defeat C. Vice D. Fool
52. Assent

A. Separation B. Self-interest C. Dissent D. Confusion
53. Relentless

A. Kind B. Yielding C. Gentle D. Sensitive
54. Evasive

A. Unclear B. Explicit C. Categorical D. Indefinite
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55. Hostility
A. Partnership B. Friendship C. Enmity D. Relationship

A

51. (C) virtue (SRME) = IMat | vice (SI2) = =Arl; 7S5 |

52. (C) assent (SGeT5) = 74re (e | dissent (f6TT5) = fogre coiraer /47 |
53. (B) relentless = fisf; w7 | yielding (31f%e) = e |

54. (B) evasive (2930T®) = gRwx “ifoc; #icar T w2 | explicit = =2 |
55. (B) hostility = *@el | friendship = 39 |

Our of the four alternatives, choose the one that can be substituted for the given words /
sentences (56-60):
56. Yearly celebration of a date or an event

A. anniversary B. birthday C. jubilee D. centenary
57. A person interested in reading books and nothing else

A. book-keeper B. bookworm C. scholar D. student
58. A person who studies the formation of the earth

A. geologist B. anthropologist ~ C. meteorologist D. seismologist
59. A tank in which fish are kept is called an

A. aquacade B. aquarium C. aquatint D. aquatone
60. One who sacrifices his life for a cause

A. patriot B. revolutionary C. soldier D. martyr

A

56. (A) Yearly celebration of a date or an event = (= 9671 A1 e &S 27 GFAR SAAHT FT =
anniversary (SifTeREIR) = S |

57. (B) A person interested in reading books and nothing else = @ ®¥q 32 *[Tros WEE =
bookworm (IFS=¥) |

58. (A) A person who studies the formation of the earth = & & S stow fricar “rgrmr = =
geologist (fersefers) = goghm |

59. (B) aquarium (SRR = R @ 210G I BIRCE N7 AT 2 |

60. (D) One who sacrifices his life for a cause = @ WM FRCE @ O G fPTEw @7 =
martyr (BT = =127 |

Out of the four alternatives, choose the one that can be substituted for the given words (61-65):

61. Opulent

A. hard-working B. rich C. obscure D. comfortable
62. Transform

A. transfer B. change C. continue D. transact
63. Recapitulation

A. introduction B. recall C. withdrawal D. capture
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